

POW 2010-14

문제:
$$\sum_{k=0}^n (-1)^k \binom{2n+2k}{n+k} \binom{n+k}{2k} = (-4)^n$$

(i 는 허수, $i^2 = -1$)

pf) $(1+(i+x)^2)^{2n}$ 을 전개하였을 때, x^{2n} 의 계수를 보면,

$$(1+(i+x)^2)^{2n} = \sum_{j=0}^{2n} \binom{2n}{j} (i+x)^{2j} = \sum_{j=0}^{2n} \binom{2n}{j} \sum_{l=0}^{2j} \binom{2j}{l} i^{2j-l} x^l \quad \text{이므로,}$$

$j < n$ 일 때는 x^{2n} 항이 나오지 않음 ($\because l \leq 2j < 2n$)

x^{2n} 의 계수는 $\sum_{j=n}^{2n} \binom{2n}{j} \binom{2j}{2n} i^{2j-2n}$ 이 된다.

$j = n+k$ 로 치환하면, x^{2n} 의 계수는 $\sum_{k=0}^n \binom{2n}{n+k} \binom{2n+2k}{2n} i^{2k}$

그런데 $\binom{2n}{n+k} \binom{2n+2k}{2n} = \frac{(2n)!}{(n+k)!(n-k)!} \frac{(2n+2k)!}{(2n)!(2k)!} = \frac{(2n+2k)!}{(n+k)!(n-k)!(2k)!} = \binom{2n+2k}{n+k} \binom{n+k}{2k}$

이므로, x^{2n} 의 계수는 $\sum_{k=0}^n \binom{2n+2k}{n+k} \binom{n+k}{2k} (-1)^k$ 가 된다. — ①

또한, $(1+(i+x)^2)^{2n} = (1+i^2 + 2ix + x^2)^{2n} = (x(2i+x))^2$
 $= x^{2n} (2i+x)^{2n}$ 이므로,

x^{2n} 의 계수는 $(2i)^{2n} = (-4)^n$ — ②

①, ②에서, $\sum_{k=0}^n (-1)^k \binom{2n+2k}{n+k} \binom{n+k}{2k} = (-4)^n$ 을 얻는다.